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Question Number : 1 Question Id : 2549896916 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Which of the following are data servers designed to process up to 1 trillion web transactions daily with the highest levels of security and

reliability?

Options :

1. % Mainframes

2. * Laptops

3. ® Minicomputers

4. ®% Microcomputers

Question Number : 1 Question Id : 2549896916 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FEfRId & ¥ D19 I ST IR ! ITdH TR B GRET 3R fAym-aar & wry ufafe 1 fferas 39 giotere &1 dafid &= & forg

fEoms far mar g2

Options :

1. % T

2. % QUerg

3. & A R
4. % HIEPIHIR

Question Number : 2 Question Id : 2549897251 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following directories contains all temporary files in Linux?

Options :
1. % /tmp
2. % Jusr
3. ® /bin

4. % /recycle

Question Number : 2 Question Id : 2549897251 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

o (Linux) @ g & @ ©1F T SrRees) & uft oreurs gl g1t 82

Options :
1. % /tmp
2. & Jusr
3. ® /bin
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4. ® /recycle

Question Number : 3 Question Id : 2549897846 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following can be used to apply a filter to the table's data, so that you only get the information that you want in MS-Access?
Options :

1. %= Form

2. % Query

3. % Macro

4. % Report

Question Number : 3 Question Id : 2549897846 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
%aa%%%@mmmmﬁ%%uﬁaﬁ@mmnmmwiw&mmaﬁmma‘ra‘rmm-
Access ?

Options :

1. ® B

2. W B

3. % Tl

4. % e

Question Number : 4 Question Id : 2549897923 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Which of the following is the very first screen/component that you will see once the windows start?
Options :

1. % Desktop

2. & Control Panel

3. % Calender

4. % Calculator

Question Number : 4 Question Id : 2549897923 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

S € e = () BT &, 3! B & Q - T ugel/ued ShH/s e s it &2
Options :

1. % S¥hely

2. ® &l 9 d

3. % PaisY

4. % HagacR

Question Number : 5 Question Id : 2549898446 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following functions returns the cosecant of an angle in MS-Excel?
Options :

1. % COS function

2. %" CSC function

3. % COSINE function

4. % COSANG function
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Question Number : 5 Question Id : 2549898446 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Excel T 8 & q $1 91 thawH {6t S101 &1 Fapdsdr (@Rfide) 3at 82
Options :

1. ® COS BhaRM

2. % CSC R

3. ® COSINE bR

4. ® COSANG R

Question Number : 6 Question Id : 2549898816 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is a program designed to convert a program written in a high level language to machine instructions.
Options :
1. % A compiler
2. % A dispatcher
3. % An assembler
4. % A scheduler

Question Number : 6 Question Id : 2549898816 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
TS T & S ot S Tt wren  ferd w7 v Y mrite it & ufafela s & fere feme fsar man g1
Options :
1. % HHFR
2. & f&@R
3. % 3fTeR
4. % YSYR

Question Number : 7 Question Id : 25498911555 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the function of a keyboard in a computer?
Options :

1. % Storage

2. % Input

3. % OQutput

4. ® Processing

Question Number : 7 Question Id : 25498911555 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
FHR T BIEIS &1 B T 82
Options :

1. % U8 BT

2. % YC &l

3. & 3{13cYc UTtd hAT

4. % ORI

Question Number : 8 Question Id : 25498930226 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
is the shortcut key to open a New Blank document in MS-Word.
Options :
1. % Ctrl + A
2.% Ctrl + N
3. % Ctrl+ M
4. % Ctrl +V

Question Number : 8 Question Id : 25498930226 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
@W—H@gﬁwm (New Blank) WW$WWW%|
Options :
1. % Ctrl + A
2. % Ctrl + N
3. % Cul+M
4. % Ctrl+V

Question Number : 9 Question Id : 25498930642 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following bidirectional buses carries the actual data between the processor, the memory and the peripherals in a computer
system?

Options :

1. = Signal bus

2. % Control bus

3. % Address bus

4. %" Data bus

Question Number : 9 Question Id : 25498930642 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
ﬁuﬁ@aﬁ@raﬁqﬁmwmmmmnalbuses)wmﬁmﬁuﬁw,ﬁ?ﬂﬂ%ﬁ?ﬁ&ﬁﬂﬂ%ﬁawwﬁaﬁ%‘?
Options :

1. % Rd 9

2. % S o

3. % T3 T

4.+ ST

Question Number : 10 Question Id : 25498930677 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

If a motherboard features a high signal to noise ratio of around , the listener can expect a clean, clear signal.
Options :

1. % 60 dB

2. % 50dB

3. % 80dB

4. %100 dB

Question Number : 10 Question Id : 25498930677 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

IS TP HeRars H T g1 3T & I R g, O i U a1, Wy Rd &t Sufic #R Ihar gl
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Options :
1. % 60 dB
2. % 50dB
3. ®% 80dB
4. %100 dB

Question Number : 11 Question Id : 25498930987 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the MS-Word table, what is the minimum number of rows and columns required?
Options :

1. % One row and one column

2. & Two rows and two columns

3. % Two rows and one column

4. ® One row and three columns

Question Number : 11 Question Id : 25498930987 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word THd B I 3R BRI BI gAaH AT fpa=t g Ay
Options :

1. ¥ T A 3R TP Hied

2. % T SR A PIad

3. % QI AR TH PlaH

4. % TP SR dIF Hied

Question Number : 12 Question Id : 25498933067 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As you draw on the tablet with the stylus, the on the tablet follows your movements, producing a drawing on the screen.
Options :

1. % hardware

2. % software

3. ® middleware

4. % vyirtualware

Question Number : 12 Question Id : 25498933067 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

g 3T et Soeie H Reiep] (LT3ed) GRI1 DTS 205 SH1d &, dl cefete b1 3{TIP BTY 1 AT BT SITIRTT B §U
ThIT TR 7 ST Sar 2|

Options :

1. % SRR

2. ¥ AR AR

3. % fgeam

4. % G IR

Question Number : 13 Question Id : 25498933194 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In binary addition, which of the following operations carry 1 to the next significant bit?
Options :
1. % 0+0
https://g01.tcsion.com/CAE/viewHtmIPDFAction.action 6/39
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2. % 0+1
3. % 1+0
4. % 1+1

Question Number : 13 Question Id : 25498933194 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

3R AT H, Fefafed & 9 31 9 9fhan 1 31 3FTa i foe d@ o S g2
Options :

1. % 0+0

2. % 0+1

3. % 1+0

4. % 1+1

Question Number : 14 Question Id : 25498933864 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The size of internet protocol version 6 is bits.
Options :

1. % 34

2. % 68

3.% 128

4. ® 255

Question Number : 14 Question Id : 25498933864 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ZeXAC MEIHId & TS UG BT SHTHR b fae g2
Options :

1. % 34

2. & 68

3. % 128

4. ® 255

Question Number : 15 Question Id : 25498934847 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is the piece of computer hardware responsible for rendering an image to your monitor?
Options :

1. % Graphics card

2. ® Keyboard

3. % RAM

4. ® Joystick

Question Number : 15 Question Id : 25498934847 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fofafad & ¥ 19 1 U U0 HHCR SISaTR § Sff 31U Hi-eR Bl S8 Uefid B & foe Jem Frar g?

Options :

1. « Uy BTS
2. % BlAS

3. % RAM

https://g01.tcsion.com/CAE/viewHtmIPDFAction.action 7139



27/02/2023, 16:25 https://g01.tcsion.com/CAE/viewHtmIPDFAction.action

4. % SOReHd

Question Number : 16 Question Id : 2549898163 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

HeR Red T, T4 3MUHT 3PBISe Al 81 ST 8, af SHTIHT 3T fbrde H bR T 117 39 o3 H G 819 & forg LCg
Tcile X Ul g |

Options :

|. % $O DS

2. % P e

3.+ U [igd gwg

4. & 10 e

Question Number : 16 Question Id : 2549898163 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

In a computer system, when your account is locked, you must wait for before being able to log into your account again.
Options :

1. % a few seconds

2. #% a few minutes

3. % a set amount of time

4. % ten minutes

Question Number : 17 Question Id : 2549898375 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

9 & Qo1 I AeRes W fRyd 98 RoM R § e ST wIésa w4 (e ufehan & SR RRed & S &4 3R gTeaaR
DI T P foIT TR B & e favan srar g2

Options :

1. % SMPS

2. % BIOS

3. # Switch

4. % POST

Question Number : 17 Question Id : 2549898375 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Which of the following is a ROM chip on the motherboard used during the startup routine (boot process) to check out the system and
prepare to run the hardware?

Options :

1. % SMPS
2. % BIOS
3. & Switch
4. % POST

Question Number : 18 Question Id : 2549899427 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2016 STHIHCY @1 &g fadl & fife HA & fore Fafafea & @ fw wr &1 IuanT fesar S g2
Options :

1.+ B1sd -> fife > fadl o T ufay &%

2. % B - fife - Uil &t T ufay o

3. % ¢ -> fife - Uil &t @ ufay o
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4, & %am>ﬁf_>mﬁﬂwmaﬁ

Question Number : 18 Question Id : 2549899427 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following sequences of steps is used to print multiple copies of MS-Word 2016 documents?
Options :

1. % File -> Print -> Copies

2. % Home -> Print -> Copies

3. & Insert -> Print-> Copies

4. & Design -> Print -> Copies

Question Number : 19 Question Id : 2549899458 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
fiifén & e &, M &1 QURET FT 2
Options :

1. # Pages per module (a@ﬁf W HV'IEEET)
2. % Pages per model (ﬁﬁﬁf W II\'IJ@_CT)

3. % Pages per machine (ﬁ@\_ﬂ Wﬂ?ﬁq)
4. % Pages per minute (a@ﬁf W &Fﬁ:’)

Question Number : 19 Question Id : 2549899458 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With reference to printing, what is the full form of PPM?
Options :

1. % Pages Per Module

2. & Pages Per Model

3. ®& Pages Per Machine

4. % Pages Per Minute

Question Number : 20 Question Id : 2549899615 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

3T fifer & ¢ve O fife F- &1 o adiepT Bl ©, 8 T Fdl o7
Options :

1. Yo ¢

2. % Riud ¢

3. % fiecw

4 % KTHE

Question Number : 20 Question Id : 2549899615 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Most printer have a way to print a test page called:
Options :

1. % self test

2. = simple test

3. & print test

4. % status test
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Question Number : 21 Question Id : 25498910781 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

T YHR &1 fiieR § o TR WR G 3Rl o 991 & fore waies & §8 &1 SUNT Rl 8, 3 341 gl SITdl 82
Options :

1. ¥ §8 fifer

2. % TR iR

3. % LED fiieR

4. ® EPpoic Hex

Question Number : 21 Question Id : 25498910781 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

A type of printer that uses an embossed steel band to form the letters printed on the paper is called:
Options :

1. % a band printer

2. % alaser printer

3. % an LED printer

4. ® an inkjet printer

Question Number : 22 Question Id : 25498911114 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
FafiRed & & P A1 T 39 STIOR a1 &7
Options :

1. % T B

2. % HIRTCT BRI

3. % BRI

4. % TT 7133

Question Number : 22 Question Id : 25498911114 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a web browser?
Options :

1. % Google Chrome

2. % Mozilla Firefox

3. & Safari

4. % Google Hangout

Question Number : 23 Question Id : 25498913435 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

p-IpH T 2, o1 ST MPEG Tdted 4 H far Srar |
Options :

1.« qafgaa o=

2. % g Y

3. % guIfad (dieREa) e

4. ® aﬂ'&l@% (Parameterized) P

Question Number : 23 Question Id : 25498913435 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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P-frame is a that is used in MPEG compression mechanism.
Options :

1. % predicted picture

2. % pulse frame

3. #® potential frame

4. ® parameterized frame

Question Number : 24 Question Id : 25498913461 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T HINSaTRA T U T Bex & 313eYe R TS Udid &I Uh He Veg, TSR] [ 318 Hd g
Options :

1. % YR

2. % BifeoR

3. # TRAGBER

4. % fiyeR

Question Number : 24 Question Id : 25498913461 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With reference to image compression, coders assign a code word, a binary bit-stream to each symbol at the output of the
Options :

1. % sampler

2. % quantizer

3. & transformer

4. % mixer

Question Number : 25 Question Id : 25498918486 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

A T Ga MS-Word 2010 STagHE B fiie HA & fore Fafifed & 9 fog #1818 2iddhe &1 IuanT fasar I g2
Options :

1. % Ctrl + P

2. % Ctrl +8S

3. &% Ctrl +R

4. % Ctrl+T

Question Number : 25 Question Id : 25498918486 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Which of the following keyboard shortcuts is used to print a currently open MS-Word 2010 document?
Options :

1. % Cul +P

2. % Ctrl+ S

3. % Cul+R

4. % Cul+T

Question Number : 26 Question Id : 25498921929 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

famrs (Fefermm) Tanfeyy o1 ulom (3m3eye) B

Options :
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1. % Ropeae
2. & B HaRH
3. % @ Cae
4 % GBS

Question Number : 26 Question Id : 25498921929 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
_____1is the output of a decryption algorithm.
Options :

1. # Ciphertext

2. % Hash function

3. % Plaintext

4. % Hash code

Question Number : 27 Question Id : 25498922687 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

e TS SR ¥ gt &, Ol T R

Options :

1. % HEIER TATS gl M

2. % DR Igd HH 3TaTel &I

3. ® gfe g0 Wi &1 afeyd 931 & dl SR IR J STaTSl S
4. % Ug SR P TSl BT YU g1 B

Question Number : 27 Question Id : 25498922687 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

If audio drivers are NOT installed, then:

Options :

1. % the computer will not play sound

2. % the computer will play sound at a very low volume

3. % the computer will play sound loudly if we increase the speaker’s volume

4. % it will not affect the sound of the computer

Question Number : 28 Question Id : 25498924444 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

5 & ¥ B I Windows HT Th BIsd HoHc RICH HId gl 672
Options :

1. % CreateFile( )

2. % ReadFile( )

3. % Close( )

4. % WriteFile()

Question Number : 28 Question Id : 25498924444 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a file management system call of Windows?
Options :

1. #® CreateFile( )

2. ® ReadFile()
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3. %" Close( )
4. % WriteFile()

Question Number : 29 Question Id : 25498925393 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

9 & 9 o 91 fdoed diees Iof & IRHING T 52
Options :

1. % 3cgepIicih dlecy] dI deHl

2. % 3[UDIIeIh diccsl b gl

3. % A1 diees BT g

4. % IBITD dlecs BT el

Question Number : 29 Question Id : 25498925393 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Which of the following defines a 'voltage surge'?
Options :

1. % Increase in short-term voltage

2. & Decrease in short-term voltage

3. ® Increase in long-term voltage

4. ® Decrease in long-term voltage

Question Number : 30 Question Id : 25498927429 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

P A Y HH 91 Te SR Riken 781 82
Options :

1. % forfem

PIERCKI

3. % % ity

4, o TFTUH

Question Number : 30 Question Id : 25498927429 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT an operating system?
Options :

1. % Linux

2. % Windows

3. % macOS

4. % Maxthon

Question Number : 31 Question Id : 2549896714 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

The extensions .gov, .edu and .net are called:
Options :

1. % domain names

2. % mail to addresses

3. ® e-mail targets

4. % DNSs
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Question Number : 31 Question Id : 2549896714 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Qaﬂ%'ﬂq.gov, .edu\}ﬁ?.netwm%‘?
Options :

1. % S A

2. % A A & [T TgH

3. % 30 TRICH

4. % DNSs

Question Number : 32 Question Id : 2549896727 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following buttons is clicked to answer to an E-mail message received?
Options :

1. * Delete Button

2. & Forward Button

3. %" Reply Button

4. % Answer Button

Question Number : 32 Question Id : 2549896727 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

3T e $IC TR U 3-1d TS 1 SIa18 &1 918d &, ot 3110 99 & 9 forg 9e R faasp &= 82
Options :

1. % f&ciic ge

2. % HRAS gcA

3.« Rwtr 5ea

4. & AR dcA

Question Number : 33 Question Id : 2549896742 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
B2C, C2C and B2B are types of .
Options :

1. % e-cash platforms

2. % e-mail platforms

3. % e-commerce platforms

4. ® protocols

Question Number : 33 Question Id : 2549896742 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B2C, C2C 3R B2B F IR G
Options :

I % 3-% WehI

2. & 30T WehI=

3. ¥ 3P WCHIR

4. % UicIld

Question Number : 34 Question Id : 2549897080 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks :
Safari web browser is developed by
Options :
1. % Apple
2. % IBM
3. %= Intel
4. ® Microsoft

Question Number : 34 Question Id : 2549897080 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

YHRI 99 FSOR fhde gRT faeb i fovar
Options :

1. % TWd (Apple)

2. & 3{TSHITH (IBM)

3. % 3 (Intel)

4, = W(Microsoft)

Question Number : 35 Question Id : 2549897946 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A is a large capital letter used as a decorative element at the beginning of a paragraph or section in MS-Word 2019.
Options :

1. % drop cap

2. & big cap

3. & large cap

4. % huge cap

Question Number : 35 Question Id : 2549897946 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

%43 Word 2019  fareit TRTUTE 1 YoM 1 Y[F3HTd T ToTae! d & U H ITANT fhd I aTdl 98 Hfed R HI a1 Hgl Sl

Options :
1. S0 &Y

2. &% fq ey
3. % @S PY
4. % Y9 HY

Question Number : 36 Question Id : 2549897995 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

How many virtual payment addresses are allowed per user in BHIM?
Options :

1.%2

2. % 4

3.% 8

4. % 1

Question Number : 36 Question Id : 2549897995 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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W\ (BHIM) B Ui STl fhd- agsid UHe Tgd WaT 67
Options :
1. %2
2. % 4
3. %8
4. %1

Question Number : 37 Question Id : 2549898790 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following top-level domains is used for non-profitable organisations?
Options :

1. % .gov

2. % net

3. % lin

4. % org

Question Number : 37 Question Id : 2549898790 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

75 7 9 g M-I SIAF &1 ST IR-AHSRY W61 o forg fasam &ire &2
Options :

1. % .gov

2. % net

3. % in

4. % .org

Question Number : 38 Question Id : 2549899011 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
is a network of discussion groups where millions of users read postings, or articles, using software called a newsreader.
Options :
1. % USENET
2. % Mailing List
3. ® Chat

4. % Email

Question Number : 38 Question Id : 2549899011 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
T THE! &1 TP Aead &, TIgl TRal STANTH! oIS ATHE TIeaTR Pl JUTNT e Uiyl a1 o ugd & |
Options :
1.  goHc
2. #® e fere
3. %9
4. % A

Question Number : 39 Question Id : 25498910437 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Using the is the most common method of creating a capital letter on a computer.
Options :
1. % Fn key
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2. % Shift key
3. % Tab
4. ® Ctrl key

Question Number : 39 Question Id : 25498910437 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FHR R s 3HeR] 7 forga & o1 Irra: {59 &t o1 Judi e oirar 82
Options :

1. % Fn !

2. % Shift P

3. % Tab &l

4. % Ctrl B

Question Number : 40 Question Id : 25498910558 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a valid margin option in MS-Word 2016?
Options :

1. ® Last custom setting

2. %" Broad

3. % Narrow

4. ® Moderate

Question Number : 40 Question Id : 25498910558 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2016 H f99 H T &1 T 3¢ AR ey T 82
Options :

. % |RC HeeH AT

2. # SIS

3.% Y

4. % HigT

Question Number : 41 Question Id : 25498910635 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Line spacing refers to:

Options :

1. ® the length of the line

2. % the height of the line

3. %" the distance between the lines of text
4. % the width of the line

Question Number : 41 Question Id : 25498910635 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
TS TR § T T 2
Options :

1. % TS Bl e

2. % TR DI HaR

3. % CRC BI Al o ol &b SHRTA
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4. % QA B IS8

Question Number : 42 Question Id : 25498910712 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which command is helpful for finding text and other contents from the following options?
Options :

1. & Cul+G

2. % Cul+S

3. % Cr+N

4. " Ctrl+F

Question Number : 42 Question Id : 25498910712 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fafiRad fawedl # 4 3H © FHis e SR 3R dHec PI GioH | TgTId il o7
Options :

1. % Ctrl + G

2. % Ctrl +S

3. % Ctrl +N

4. % Cul+F

Question Number : 43 Question Id : 25498910731 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is FALSE regarding bullets and numbering function of MS-Word?
Options :

1. % Both, bullet and numbering option can be selected from the home menu.

2. & By using the numbering option we can also assign alphabets to the selected data.

3. % By using bullets option we cannot assign alphabets to the selected data.

4. % By using the numbering option we cannot assign alphabets to the selected data.

Question Number : 43 Question Id : 25498910731 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word % FaIc 3R TR tra=r & ey & Fufafad & 3 $19 91 4 e 82
Options :

1. # g O T gaie 3R e faded gl &1 99+ fava ST Il g |

2. & AT fadhed HT IUTNT I §H TAMT Sl BT 3eR it RSy wr & B
3. % FaIe fAded &1 IUANT Hdb g Ia(d Sl & 3eR fAfEy 78 o Thd g |
4.+ FERT fad e BT I b g1 Fafd SeT Bl 31eR Py T8 = Ivd B

Question Number : 44 Question Id : 25498911461 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is sum of the given hexadecimal numbers - (10);4 and (20);¢?

Options :

1. % (AB)4
2. % (BA)g
3. % (84)4
4.% (30)4
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Question Number : 44 Question Id : 25498911461 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fau U TS Rma Tt - (10),¢ 3R (20),, BT AT AT G2
Options :

1. % (AB)4

2. % (BA)g

3. % (84)4

4.4 (30)6

Question Number : 45 Question Id : 25498911490 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
Zatheesh is working on an M5-Word document. When he tvped 1|, AutoComrect properly inserts symbal,
Options :

®® 0

Question Number : 45 Question Id : 25498911490 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
FETF wore THRIE WHFO T IE , T8 00 | TRO L T i m e e e T e e
Options :

©

®
®
Ne
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Question Number : 46 Question Id : 25498911822 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following in NOT a way to measure the line spacing in MS Word 2019?
Options :

1. %= At least

2. & Exactly

3. % Double

4. % Limited

Question Number : 46 Question Id : 25498911822 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

fofiRead & @ S 1 a8eT MS-Word 2019 T TT8 TURHAT &1 AT &1 dHT el 82
Options :

. ¥ FHYHH (At least)

2. % gl (Exactly)

3. % QAT (Double)
4. " A (Limited)

Question Number : 47 Question Id : 25498911971 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following can be used to change the width of the columns in a table in MS-Word 2016?
Options :

1. % Quick Tables

2. % Convert Text to Table

3. ® Translate

4. %" Table Properties

Question Number : 47 Question Id : 25498911971 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2016 H d1feresT & Tad o 9isTs sgaq & (ol Rafiiad o 9 faraet IuanT farar o g g2
Options :

1. % fbop ot

2. % FHGC CRE ¢ o9

3. # el

4. TqA UTach

Question Number : 48 Question Id : 25498912506 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The default setting of Header and Footer is from the top and bottom of the page in MS-Word 2016.
Options :

1. % 1inch

2. % 0.5 inch

3. % 0.75 inch

4. % (.25 inch
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Question Number : 48 Question Id : 25498912506 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

MS-Word 2016 B g8 & SR 3R 12 3R 3R Fer 3} fhiee QT gl
Options :

1. %159

2.4 0539

3. %0759

4. % 0255

Question Number : 49 Question Id : 25498919165 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
The following icon in the 'Envelope Options' dialogue box io Mail Merge process of MM5-Word 2013 indicates

Options :

1. % Feed

2. % Preview

3. % Feed and preview

4. ® Positioning

Question Number : 49 Question Id : 25498919165 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

wt ' ' S
NS Word 2013 T FE 9 THT S5 U MR ST A w1 g S v s
i W
Options :

1. % Blg

2. % i

3. % I8 SR iy,
4. % OIfgrRIT

Question Number : 50 Question Id : 25498932146 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
is an audio-visual communication system that helps to see people while talking through a high-speed internet connection.
Options :
1. % Videoconferencing
2. % Chatting
3. % Email

4. % Blogging

Question Number : 50 Question Id : 25498932146 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
TS T-YH YaR JumTel! &, Ford 818 wiie Sevaie 9 IS gU Al o1d $Rd IHT Th-gak &l ¢d f 9ahd g

Options :
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1. « ST BRI
2. & gfew

3. % 309

4, % SAMAT

Question Number : 51 Question Id : 25498933773 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is FALSE with reference to Plug ins in a web browser?
Options :

1. ® Applications intended for use in the web browser

2. ® Plug-ins are like ActiveX controls

3. %" Plug ins can be executed outside of a web browser

4. % Adobe Flash is an example of an application that is available as a plug-in.

Question Number : 51 Question Id : 25498933773 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

39 STISR H @1 39 & e # Fyfafea # ¥ oH-11 Tad 82

Options :

1. % 99 STI3oR H IUINT & oy Sifvd Tt

2. & q-g4 ActiveXﬁWﬁﬁl’ﬁW%

3. % T 39 D1 99 FISOR P dTex Fured forar o1 9o &

4. % Adobe Flash Ue UfRIh T T U ICT80I § ol ©IT-39 & =0 H IUds §

Question Number : 52 Question Id : 25498934474 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Applications that protect streamed content by playing part of the file and discarding it are more aptly referred to as
Options :

1. % streaming

2. % gcaling

3. ® gathering

4. % downloading

Question Number : 52 Question Id : 25498934474 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

WISd B DI 3R TA U I BeTaR KH g dTd dHrec B & B ard USRI Hl Hgl ol gl
Options :

1. I

2. % ThIeHT

3. % 7GR

4. % SIITAST

READING COMPREHENSION

Section Id : 2549896996
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 1
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Number of Questions to be attempted : 1

Section Marks : 5

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897037
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 25498921097 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Question Numbers : (53 to 57)
Read the given passage and answer the questions.

A Market Place

A marketplace is a very busy place where people go to buy articles of their needs. It is a centre of attraction for both buyers and sellers. I
love visiting it. There is always a big crowd there. Big and small shops with their colourful wares are a sight for sore eyes! Businessmen
come here from far and wide for purchasing or selling their products. The market is always crowded with carts, horses, donkeys and
camels. They come loaded with the produce of the season such as cotton, grain, oil seeds, vegetables, etc.

Whenever 1 visit a market, I find the hawkers shouting aloud to sell their goods. They sing songs in praise of their goods. They face hard
competition because there are several hawkers selling the same article.

The market is very crowded in the evenings. Everyone seems to be out to buy something. There are jewellery shops which shine brightly
in the light. Cloth shops and ready-made garment shops do great business during the festival season.

Hotels and restaurants are also crowded with people. Some people are seen with plates of 'chaat’, others are seen enjoying cold drinks.
There is flavour of all kinds in the surrounding area. It is very difficult to drive a car in a marketplace.

The market is really a very noisy place. One can meet all sorts of people there. Friends and family members shop together and enjoy
eating at food stalls.

I always welcome those days when I can visit the market with my friends.
Sub questions

Question Number : 53 Question Id : 25498921098 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
People go to the marketplace to:
Options :

1. % cook with family members

2. % buy things they need

3. & make jewellery

4. % talk to friends

Question Number : 54 Question Id : 25498921099 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following items is/are NOT sold in a marketplace?
Options :

1. % Houses

2. % Cotton

3. & Qil seeds

4. % Grains

Question Number : 55 Question Id : 25498921100 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
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Why does a hawker sing songs while selling goods?
Options :
1. ® To entertain people
2. % To attract customers
3. % To make friends

4. % To make noise

Question Number : 56 Question Id : 25498921101 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
People enjoy at restaurants by:
Options :

1. % selling colourful wares

2. ® ginging songs

3. % eating chaat

4. % buying jewellery

Question Number : 57 Question Id : 25498921102 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

During the festival season, the shops that do great business are:
Options :

1. % vegetable shops

2. #® oilseed shops

3. ® cotton shops

4. % garment shops

Question Id : 25498921097 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Question Numbers : (53 to 57)

fau T TR ) U 3R ISP YR WR U F IR <
CISIH

ISR U 9gd &1 I S1TE B! § STal AN U STe’d 1 Iy WileH & fory S & 1 I8 WGR! 3R fagharafi g & Saeur
EACT-AGGIN] wmagawa%weﬁmagmﬂgw?ﬁ%wﬁvﬁwﬁﬁﬂsﬁmaﬁw@%@ﬁé@ﬁ%maﬁ
G‘m-ﬁlrmaﬁ | GR-CRTS Y AT T 30 ITE ST STl WG M7 § | FToMR H GO MISH, Tiat, el 3fR el ot ofts
T X 1 3 i) Sael O U, ST, faicTe, TfseT S @ T gU o B

ﬁwﬁwwgﬁ@@mﬁmwéﬁ%ﬁﬁ%mmﬁaﬁm%éauﬁ;rmﬂ‘r%uwrﬁarrﬁ
T 38 B3 ufaue! o1 W1 BT USdl § Fih a8 3 BRIard Ueb ol off Wi sd gl
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aﬂmﬁw?ﬁ%aﬂ‘sﬁ%ﬁwﬁmﬁﬁwaﬁﬁﬁw&@wm%

Bied IR YERT § +ff A Y 1its Bt 81 P T =1e Bl Wie R e § 3R o N pies (S o1 gb od §U few o &
3T-U & & § 9ft TR & WIg SUas § | SR § SR Ia1 9gd JiRebd B g

FIOIR aRad § 9gd IR aTelt STE § | T8 8% aRg o ANl § el off Gl ¢ | it 3R uRaR & Yew U I1Y WieR $%d §
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Sub questions

Question Number : 53 Question Id : 25498921098 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
W F RN IR gl
Options :
1. % URAR & &I & 1Y @M
2. ALIHT B U TR
3. # YU g1
4, % Rl Y 91 B

Question Number : 54 Question Id : 25498921099 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A ¥ B ) a5 T9R § 7 S St 82
Options :

1. » Hhlq

2. % HUN

3. % foegd

4. % 3T

Question Number : 55 Question Id : 25498921100 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
WIaT T Sad SHg T 1 I 82
Options :

1. % QRN T HARGH B o ferg

2. TTED! Bl SATH B & 1T

3. # QI M & forg

4. % IRHT & fow

Question Number : 56 Question Id : 25498921101 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
AT e Ad gl
Options :

1. % T GHE 99 R

2. & AT HY

3. & Tl G X

4. ® JTYYU TRIG IR

Question Number : 57 Question Id : 25498921102 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ER & 7w o DI gHM 3ST FRIGR Hal & |
Options :

1. % gosit

2. % fqerg

3. & HUN

4. & PUS

QUANTITATIVE APTITUDE
Section Id : 2549896997
Section Number : 3

https://g01.tcsion.com/CAE/viewHtmIPDFAction.action 25/39



27/02/2023, 16:25 https://g01.tcsion.com/CAE/viewHtmIPDFAction.action

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6

Number of Questions to be attempted : 6

Section Marks : 6

Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897038
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 58 Question Id : 25498914322 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the option that can replace the question mack (7)) in the given equation

VEABZT % (303 = 8) = ()7
Options :

1. #= 48

2. % 38

3. % 28

4, % 18

Question Number : 58 Question Id : 25498914322 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
3 fadhed o1 7= B3 o 3T U gHieu § Uy g (2) 31 ufaei1iid o ghar g

YhRABM % (303 + B =(7)°
Options :
1. # 4'5

0. A8
3 2'5

4. % 18

Question Number : 59 Question Id : 25498928988 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A question is given, followed by three statements labelled I, IT and III. Identify which of the statements are sufficient and necessary to
answer the question.

Question:

What is the labelled price of the music system?

Statements:

I. Rehana purchased a music system for 32,450 and spent 250 on its transportation.

II. Rehana earned a profit of 20% by selling the music system by offering a discount of 5% on the labelled price.

III. The selling price of the music system after offering a discount of 5% on the labelled price is 33,240.

Options :
1. % Any two of the three statements.
2. % All statements I, IT and III.
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3. & Only statements I and III.
4. % Only statement III or only statements I and III.

Question Number : 59 Question Id : 25498928988 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

T v At TEE ww anewr gwe e s e e §) st g Tt s ot o ose B b
B wta # = smmerw st oo § aeEw e W T e
HH ¢
TED TT W Hide Fed a4 &7
U
L e A AR A9 ¥ 2,450 F wiEr AT g g A ¥ 250 =9 W
I IEET TET 99 F Fied #ed 07 5% #T OF R W 394 @ 3T 20% = AW wre &0 2
m.  HfEE gFr 97 6% Y 0w i F oA Iy uE w ew grw 1 3240 1
Options :

| x O H FFE
o w1 I HT I e
N el

4w T T e | T

Question Number : 60 Question Id : 25498929002 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

The total present age of P and Q is 25 years more than the present age of R. If at present, Q is 5 years older than R, what is P’s present age
(in years)?

Options :

1. % 20

2. % Data provided are not adequate to answer the question

3. % 40

4. % 35

Question Number : 60 Question Id : 25498929002 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

P 3t Q & 9@ A & W97 R IR A @ 25 a9 wite §) wfy a9Ee # Q, R ® 5 A @
& P e g (et &) Far e

Options :

v 20
o x WO W 3rci g w Tow e aw #ar saied A6 )

3. % 40

4. % 35

https://g01.tcsion.com/CAE/viewHtmIPDFAction.action 27/39



27/02/2023, 16:25 https://g01.tcsion.com/CAE/viewHtmIPDFAction.action

Question Number : 61 Question Id : 25498929067 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The time taken by a boat to travel a certain distance downstream is half the time taken by it to travel the same distance upstream. What is
the speed of the boat (in km/h) downstream if it travels 7.5 km upstream in 1 hour 30 minutes?

Options :
1. %75
2. %5
3.%9
4. % 10

Question Number : 61 Question Id : 25498929067 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ST EENT T AT g i wgra a B & oW e # w9 FAG, FAW g o T e F
AT T E N e e S i Rt F i N A A TS
e 7 gft 77w § A mgE dr fgaw F A #r Ay (kegh #7) s gEe

Options :

. & 1.5

2. % B
3 % 9

4.« 10

Question Number : 62 Question Id : 25498929350 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A ladder which is 17 m length is leaning against a wall which is 15 m high. How far is wall from the base of the ladder?
Options :

I. % 10 m

2.% 8m

3. % 12m

4. % 14m

Question Number : 62 Question Id : 25498929350 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
17 #feT o T WEr 15 #ew Fuw & e e ® W §) S @y & s @ e gg B

Options :

| x 10 A
z,fEIﬁTﬂ

3w 12 #AET
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4. 14#|H

Question Number : 63 Question Id : 25498929397 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

TEOO0239 4 0000715 = 3,105 x 10% then the value of & is;
Options :

1. % 4

2. % -3

3.%3

4. % 4

Question Number : 63 Question Id : 25498929397 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
I 0.00239+ 0.000715 — 3.105 x 10* &, & & % &= #27 grn?

Options :

1. & —-:1

2. W _E'

3.0% 3

4. % 4

GENERAL MENTAL ABILITY AND REASONING

Section Id : 2549896998
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6

Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897039
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 64 Question Id : 25498910384 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the option in which the words share the same relationship as that shared by the given pair of words.

Bee : Hive
Options :
1. % Horse : Carriage
2. % Cow : Byre
https://g01.tcsion.com/CAE/viewHtmIPDFAction.action 29/39



27/02/2023, 16:25 https://g01.tcsion.com/CAE/viewHtmIPDFAction.action

3. ® Rider : Bicycle
4. % Dog : Show

Question Number : 64 Question Id : 25498910384 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

39 faden &1 997 BT fores Wsal & ata 98t Aay g S Taiy 1 U 7 2ree-gm & Weal & S 3
TYHE! : T

Options :
1.3“‘€h3T:TI'IT59f

2. T : TRTE
3. hw:m
4. hﬁ:@ﬁ

Question Number : 65 Question Id : 25498912878 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If the letters of the word TRANSFORM are rearranged as they appear in the English alphabet, then the position of how many letters will
remain
unchanged after such rearrangement?

Options :
1. ® None
2. % One
3. % Two
4. % Three

Question Number : 65 Question Id : 25498912878 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I Reg TRANSFORM & 31&R} Bl SIS qUIigent & IR U: Hafyd {3 ST 8, dl 39 TR & TIaRT & aTg fdha
31&RI 31 RUfa & I uRac g1 g

Options :

1. % IS el

2. ¥ TH

3.5g

4. % GdH

Question Number : 66 Question Id : 25498919614 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
Select the most appropriate description about the given set of words.

Stork : Goose : Duck

Options :

1. % They migrate to India from Siberia.
2. %" They are water birds.

3. & They are brown coloured birds.

4. % The species are disappearing.

Question Number : 66 Question Id : 25498919614 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
I fou T Trsal & Igad faRur § e fadwed &1 997 Siforg|
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IRY : 89 : g9

Options :

1. % T rafar § YR oma ||
2. % AU & geft §

3.8 JIRITFH BB

4. % Y YT TN g1

Question Number : 67 Question Id : 25498919682 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the option that is related to the third number in the same way as the second number is related to the first number.

48 :122::168:7?
Options :
1. % 215
2. ® 225
3. %290
4. % 295

Question Number : 67 Question Id : 25498919682 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

39 fased &1 997 FIFTE o7t st TRe & St TR Taiferd § for TR gt T, ugelt e 9 efid g |

48 :122::168:?
Options :
1. %215
2. % 225
3. % 290
4. % 295

Question Number : 68 Question Id : 25498920345 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Four words pairs have been given, out of which three are alike in some manner and one is different. Select the one that is different.
Options :

1. % Diamond : Glass cutter

2. % Qraphite : Pencil lead

3. ® Lampblack : Automobile

4. % Coke : Shoe polish

Question Number : 68 Question Id : 25498920345 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

IR Yeg-gH U MU & 0 9 i & ot 31 T ST Ty g s T Wea-iH SR § 1 I SR Wea-giH &1 98 Dol |
Options :

1. % gRI: TR e

2. # JwTc : URYA &1 g

3. & PIferg : a8

4. % DI - TR
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Question Number : 69 Question Id : 25498928155 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In a certain code language, INDIA HAS WON FIRST GOLD MEDAL is written as JEZJU OUV SEF PIDVB REQZ ITZUQ. How will
TAILOR be written in that language?

Options :

1. % ZUTQED
2. % BUJQED
3. % SUTQED
4, % BUTQEP

Question Number : 69 Question Id : 25498928155 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

T fafRIY FeuTsT H, INDIA HAS WON FIRST GOLD MEDAL &1 JFZJU OUV SEF PIDVB REQZ ITZUQ & ¥4 ¥ forar S g |
I US| TAILOR o1 fovd =4 # feran s

Options :

1. % ZUTQED

2. % BUJQED

3. % SUTQED

4. % BUTQEP

GENERAL AWARENESS

Section Id : 2549896999
Section Number : 5

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6

Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897040
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 70 Question Id : 2549895253 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT an auto company?
Options :

1. % Hyundai

2. ® General Motors

3. ® Maruti

4. % Tripex

Question Number : 70 Question Id : 2549895253 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Fofifed & 9§ SH-3 Sut U siict Sl 181 82
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Options :

Lo® R

2. % SRd HicH
3. % HArofd

4.+ TIUT

Question Number : 71 Question Id : 2549899691 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Rolling Plan for backward countries was suggested by:
Options :

1. %" Gunnar Myrdal

2. % WA Lewis

3. # R Nurkse

4. % A Samuelson

Question Number : 71 Question Id : 2549899691 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

UzS 3=t & forg Afei Ao o1 g3ima forass gt foan mar ure
Options :

1. TR A8 d

2. % YU qU

3. % 3R THY

4, ® T ST

Question Number : 72 Question Id : 2549899933 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the columns.

Significant Event (List 1) Personality (List 2)

A. August Declaration 1. Lord Linlithgow

B. August Offer 2. Edwin Montagu

C. August Resolution 3. Muhammad Ali Jinnah

D. Direct Action 4. Mohandas Karamchand Gandhi
Options :

1. % A-2, B-1, C-4, D-3
2. ® A-1,B-2,C-4,D-3
3. # A-1,B-2,C-3,D-4
4. % A-4,B-1,C-2,D-3

Question Number : 72 Question Id : 2549899933 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

I e T 3 et F & g1 SR g1 31 el A IR 9! SR &1 99 B

it -1 Tt -2
A. ST ST 1. drs ferAferym
B. S UdTd 2. TSfaq |icT]
C. 3R ¥hed 3. YgHG 3fcit fore
D. UA& HRATS 4. HIgTaTY HrHa< Mt
Options :
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1. % A-2, B-1,C-4, D-3
2. % A-1,B-2,C+4, D-3
3. % A-1,B-2,C-3,D4
4. % A-4,B-1,C-2,D-3

Question Number : 73 Question Id : 25498912769 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Mercy Kuttan is associated with:
Options :

1. ® hockey

2. ® cricket

3. % athletics

4. % table tennis

Question Number : 73 Question Id : 25498912769 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
4 e Fa H 9 fopareh A1y ST 82
Options :

1. % gl

2. % fopape

3.« TydfeH

4. % ¢qq g

Question Number : 74 Question Id : 25498932131 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
Which of the following statements about Sarojini Naidu is/are true?

1. She was the first woman President of the Congress.
2. She was the first woman Governor in Independent India.
3. She was the first Health Minister in Independent India.

4. She wrote the famous book 'The Golden Bough'.
Options :

1. % 1,2and 4

2. % Only | and 2

3. % Only 1 and 3

4. % Only 2
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Who among the following considered the right to constitutional remedies as the very 'heart and soul' of the Constitution of India?
Options :

1. % Mohandas Karamchand Gandhi

2. % Jawaharlal Nehru

3. % BR Ambedkar

4. % Dr Rajendra Prasad

Question Number : 75 Question Id : 25498932565 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Summer camps are supervised camps conducted to entertain as well as equip students with various life skills such as teamwork,
socializing, decision making, independent and responsible living and more. It aids the overall development of a child and children
have fun during this process as they get to explore new arenas.
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Time is one of the most precious assets of life which helps a human to lay the foundation of success. The difference in the ability to
utilize time defines the underlying impact between the success and failures of individuals. This is where time management comes
into the picture given its immense importance. It is often defined as the practice of managing work and daily tasks in an effective
manner. When a person starts practicing the art of time management his tasks become more organized and punctual. The value of
time management has been well established and accepted by everyone across the globe ever since human civilizations started. The
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advantageous benefits of time management have motivated people to adopt time management as a part of their daily routine. This
is why managing time well has become a prerequisite for everyone especially in the prevailing competitive times. Time
management is vital for everyone from students to CEOs and even political leaders to do well in their lives. Few of the common
reasons for why people experience failure include lack of time management skills that is the inability to plan a task and absence of
punctuality. These point out that most of the reasons are related to mismanagement of time in the personal as well as professional
lives of people. It is a widely known fact that efficient managers of time minimize their chances of defeats in the pursuit of life.
Those who do not value time enough are more likely to fail repeatedly. To substantiate the fact losing time can be so much similar
to losing a lifetime opportunity here is an example of a true incident. Kay Whitmore the CEO of Kodak fell asleep during a
meeting with Bill Gates where discussions were taking place to integrate Kodak products and Windows. Because of this laziness
and complacency he failed to realize the potential of the digital world and lost out on a potential deal with Microsoft that would
have changed the fortunes of Kodak. This example goes down in history as one of the greatest lost opportunities and failures at
time management. He had the time and the opportunity but instead of giving his best he chose to sleep. The next step after
realizing the importance of time management is to look at ways or practices an individual can adapt to enhance this skill. The
practices for boosting time efficiency are similar for all whether it be a student or a businessman. The ways to master the art of
time management are universal and can be applied in every vertical of life. In addition to these little changes in the personality of
a person or behaviour can make him a far more productive person. To conclude people of all ages and professions must value the
priceless asset of time. It is evident that time management is a necessity for everyone and is applicable to all spheres of human life.
The mismanagement of time can lead to failures. On the other hand managing time well offers great returns. Furthermore there
are numerous and easy ways in which an individual can learn time management and achieve goals with hiked productivity. Thus
it would not be wrong to say that time management is inclusive of managing time as well as managing productivity.
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